aol = ActiveObject(‘aol’) @

aol.start_at(outer_state)
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ao2 = ActiveObject('ao2")
ao2.start_at(inner_state)
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print("{}: hello from outer_state".format(chart.name))
print("{}: run some code, but don't transition".format(chart.name))

print("{}: exiting the outer_state".format(chart.name))
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entry /
print("{}: hello from inner_state".format(chart.name))

exit /

‘ print(‘{}: init'.format(chart.name))

print("{}: exiting inner_state".format(chart.name))

Reset / print('{}: resetting the chart'.format(chart.name))




